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1. Introduction
During RAN1#104b-e, the issue of infinite loop due to excessive resource exclusion in mode 2 step 5) was discussed and the following agreement is reached. However, a text proposal from the proponents and the moderator was not agreed.
	Agreements:
· Update the specification of identification of candidate resources for Mode-2 resource allocation in section 8.1.4 of TS 38.214 to handle the case when X·M_total number of identified resources could not be reached after any number of loop iterations
· If the number of the excluded resources in step 5 is larger than (1-X)·M_total, a UE skips step 5


In this contribution, we provide discussion and our view on a version of text proposal that should be adopted in the RAN1 spec (TS 38.214) that properly implements the intention of the above agreement.

2. TPs for skipping step 5
During the formulation of the text proposal to implement the agreement, two versions of the TP were proposed during the official email discussion.
Text proposal version 1
During the email discussion for the infinite loop problem due to excessive exclusion in step 5), the solution option to skip step 5 based on a submitted contribution to the meeting [1] was listed from the beginning as it can be traced in [2]. From [1], it was clearly illustrated that 
“If the number of candidate single-slot resources remaining in the set  is less than , the set  is reinitialized to the set of all the candidate single-slot resources”.
Hence, it was clearly understood of the intention / meaning of skipping step 5) from the agreement was that the set  should be re-initialised or reset to the full set from Step 4). By doing so, as shown by the TP in [1] and below, the entire step 5) is skipped and reverted back to the same state and condition after performing step 4) and just before entering into step 6). It can be seen as if step 5) has never been performed by the UE at all in the mode 2 resource selection procedure.
	4)  The set  is initialized to the set of all the candidate single-slot resources. 
5)  The UE shall exclude any candidate single-slot resource  from the set  if it meets all the following conditions:
-     the UE has not monitored slot  in Step 2.
-     for any periodicity value allowed by the higher layer parameter sl-ResourceReservePeriodList and a hypothetical SCI format 1-A received in slot  with 'Resource reservation period' field set to that periodicity value and indicating all subchannels of the resource pool in this slot, condition c in step 6 would be met.
5-1) If the number of candidate single-slot resources excluded from the set  in step 5 is greater than , the set  is initialized to the set of all the candidate single-slot resources.
6)  The UE shall exclude any candidate single-slot resource  from the set  if it meets all the following conditions:



Text proposal version 2
During the email discussion, a different version of the TP was offered as shown below, in which the solution does not “skip” step 5) but instead the UE continues to perform the existing procedure in step 5) up to a point where the remaining candidate single-slot resources in  is the same as . 
	4)  The set  is initialized to the set of all the candidate single-slot resources. 
5)  The UE shall exclude any candidate single-slot resource  from the set  if it meets all the following conditions:
-     the UE has not monitored slot  in Step 2.
-     for any periodicity value allowed by the higher layer parameter sl-ResourceReservePeriodList and a hypothetical SCI format 1-A received in slot  with 'Resource reservation period' field set to that periodicity value and indicating all subchannels of the resource pool in this slot, condition c in step 6 would be met.
-     the number of candidate single-slot resources excluded from the set  is not greater than 


From the above TP version 2, the followings are observed:
· One major problem with this TP is that if by the end of step 5) the remaining candidate single-slot resources in  is the same as , this means the set  contains the bare minimum number of remaining resources that needs be reported to the MAC higher layer according to the (pre-)configuration of X%.
· Subsequently in step 6), if just a single resource is to be further removed from the candidate set  due to a reserved resource with RSRP higher than a corresponding RSRP threshold, the entire L1 procedure will result in an infinite loop again at least until the RSRP threshold increment has reached a point where no resource is excluded in step 6). As such, this issue is effectively not resolved and it is practically the same as Option 1-1 with extra many RSRP threshold increments. Also, it will result in UE doesn’t take the reservation in received SCIs into account at all.
· Therefore, the TP version 2 is not inline with the original intention and purpose of the agreement to resolve the infinite loop problem due to excessive exclusion in step 5).
· Due to the above technical problem, the technical solution / modification to the current step 5) would perform worse than the Option 1-1 (not performing step 6) and 7)), 1-4 (perform step 6) and 7) just once) and 2-1 (a subset of pre-configured periodicities) that were considered during the last RAN1#104b-e meeting, which were eliminated during the email discussion due to other technical concerns. As such, if this TP version is to be adopted, we would rather go back and re-open the discussion to consider Option 1-1, 1-4 or 2-1.
· Based on the above two points, it is evident this TP version 2 offers another technical solution which has not been properly evaluated and discussed in RAN1, and it was not part of the original list of 10 different technical solution options considered during last meeting’s email discussion. As such, it should not be considered at all after a technical agreement had already been made.

Conclusion: Based on the above discussed technical problems and procedural concerns, the above TP version 2 should not be considered as an option for implementing the agreed solution of skipping step 5) to resolve the infinite loop due to excessive exclusion.

3. Conclusion
Based on the discussion provided in this contribution for both TP version 1 and version 2, the following conclusion is reached.

Conclusion: Based on the above discussed technical problems and procedural concerns, the above TP version 2 should not be considered as an option for implementing the agreed solution of skipping step 5) to resolve the infinite loop due to excessive exclusion.
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